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Q:1 Eight people A, B, C, D, E, F, G, and H are sitting at a
circular table. Some of them are facing inside while some
of them are facing outside. No two people sitting
adjacent are facing the same direction. A sits third to the
left of D who faces outside. H faces A. F sits third to the
right of H. B sits immediate right of F. G sits opposite B. C
doesn't sit adjacent to A.

How many people sit between C and F?
1.2
2.3
3.4
4.1

Q:2 Eight people L, M, N, O, P, Q, R, and S are sitting at a
circular table. All of them are facing inside. O sits second
to the right of L. P sits three places away from O but
doesn't sit adjacent to L. Q sits opposite P. R sits second
to the left of S. N doesn't sit adjacent to O.

Who among the following sits opposite N?
1.M
2.L
3.Q
4.5

Q:3 Eight people F, G, H, |, J, K, L, and M are sitting at a
circular table. All of them are facing inside. J sits
opposite | who sits second to the left of L. Only three
people sit between L and F. K sits immediately right of F.
M sits exactly between G and H who is not a neighbor of
l.

Who among the following sits second to the left of F?
1.K
2.J
3.H
4.L

Q:4 Seven people A, B, C, D, E, F, and G are sitting at a
circular table. All of them are facing inside. D sits third to
the left of C. Only two people sit between D and G. B sits
immediate right of G. A sits second to the right of F.

Who among the following sits third to the right of E?

1.F

2.D

3.B

4. A

Q:5 Seven people T, U, V, W, X, Y, and Z are sitting at a
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circular table. All of them are facing outside. Y sits
second to the right of U who sits two places away from X.
W sits third to the right of X. T doesn't sit adjacent to X
while V doesn't sit adjacent to U.

Who among the following sits immediate right of Z?
1.U
2.V
3. W
4.X

Q:6 Six people Abha, Beena, Charu, Deepa, Erica, and
Falak are sitting at a circular table. All of them are facing
inside. Abha sits second to the right of Charu who sits
immediate right of Falak. Deepa sits opposite Beena who
sits adjacent to Erica.

Who among the following sits opposite Charu?
1. Falak

2. Abha

3. Erica

4. Beena

Q:7 Six people Manoj, Neha, Ojas, Priya, Riya, and
Sameer are sitting at a circular table. All of them are
facing outside. Neha sits exactly between Riya and Priya.
Ojas sits second to the right of Priya. Sameer doesn't sit
adjacent to Riya.

Who among the following sits second to the left of Riya?
1. Ojas

2. Neha

3. Priya

4. Sameer

Q:8 Six people Reena, Seema, Teena, Urvashi, Veena, and
Wasim are sitting at a circular table. Some of them are
facing inside while some of them are facing outside. No
two people sitting adjacent are facing the same direction.
Urvashi sits second to the right of Wasim who faces
inside. Teena sits three places away from Veena who sits
immediate right of Seema.

How many people sit between Wasim and Reena?

1.1

2.2

3.3

4.4

Q:9 Eight people S, T, U, V, W, X, Y, and Z are sitting at a
square table. All of them are facing inside. Four of them
sit at the corners while four of them sit at the sides. Z sits
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opposite V who sits immediate right of X who sits at the
corner. Y sits two places away from V and doesn't sit
adjacent to X. Three people sit between Y and S. W and U
don't sit adjacent to V while W doesn't sit adjacent to S.

Who among the following sits opposite U?
1w
2.S
3.7
4.X

Q:10 Eight people J, K, L, M, N, O, P, and Q are sitting at a
square table. Four of them sit at the corners and face
inside while four of them sit at the sides and face
outside. N sits second to the left of P who sits at the
corner. Three people sit between N and J. O sits
immediately right of J. L sits second to the right of 0. M
sits immediately right of Q who faces outside.

Who among the following sits between L and O?

1.J

2.P

3.K

4. M

GETITON

Google Play

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com S




l THIE _ DAILY
JD HIROINAS DOSE

SSC Banking WB Police = WB Civil Services Other Competitive Exams

Date : 20th Jan 2024 Logical Reasoning - Seating Arrangement English

IAnswer Key Q:3 The correct answer is Option 2 i.e. J

1. J sits opposite | who sits second to the left of L.
1. (2) 2. (1) 3. (2) 4. (3) 5. (1) 2. Only three people sit between L and F.
6. (3) 7.(1) 8. (2) 9. (3) 10. (1) 3. K'sits immediately right of F.

4. M sits exactly between G and H who is not a neighbor

IAnswers and Solutions of I

Q:1 The correct answer is Option 2 i.e. 3

1. A sits third to the left of D who faces outside.
2. Hfaces A.

3. F sits third to the right of H.

4. B sits immediately right of F.

5. G sits opposite B.

6. C doesn't sit adjacent to A.

Clearly, J sits second to the left of F.
Hence the correct answer is J.

Q:4 The correct answer is Option 3i.e. B
1. D sits third to the left of C.

2. Only two people sit between D and G.
3. B sits immediate right of G.

4. A sits second to the right of F.

Clearly, 3 people sit between C and F.
Hence the correct answer is 3.

Q:2 The correct answer is Option 1i.e. M
1. O sits second to the right of L.

2. P sits three places away from O but doesn't sit
adjacent to L.

3. Q sits opposite P.
4. R sits second to the left of S.

5. N doesn't sit adjacent to O.
Clearly, B sits third to the right of E.

Hence the correct answer is B.

Q:5 The correct answer is Option 1i.e. U

1. Y sits second to the right of U who sits two places
away from X.

2. W sits third to the right of X.

3. T doesn't sit adjacent to X while V doesn't sit adjacent
to U.

Clearly, M sits opposite N.
Hence the correct answer is M.

GETITON

Google Play

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com S




TTHIE

D

SSC

Banking WB Police

Date : 20th Jan 2024

Clearly, U sits immediate right of Z.
Hence the correct answer is U.

Q:6 The correct answer is Option 3 i.e. Erica

1. Abha sits second to the right of Charu who sits
immediate right of Falak.

2. Deepa sits opposite Beena who sits adjacent to Erica.

Clearly, Erica sits opposite Charu.
Hence the correct answer is Erica.

Q:7 The correct answer is Option 1 i.e. Ojas
1. Ojas sits second to the right of Priya.

2. Neha sits exactly between Riya and Priya.
3. Sameer doesn't sit adjacent to Riya.

Clearly, Ojas sits second to the left of Riya.
Hence the correct answer is Ojas.

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com

RONAS

Ensuring success through skills

WB Civil Services

Logical Reasoning - Seating Arrangement

DAILY
DOSE

Other Competitive Exams

English

Q:8 The correct answer is Option 2 i.e. 2

1. Urvashi sits second to the right of Wasim who faces
inside.

2. Teena sits three places away from Veena who sits
immediately right of Seema.

Clearly, 2 people sit between Wasim and Reena.
Hence the correct answer is 2.

Q:9 The correct answer is Option3ie. T

1. Z sits opposite V who sits immediate right of X who
sits at the corner.

2.Y sits two places away from V and doesn't sit adjacent
to X.

3. Three people sit between Y and S.

4. W and U don't sit adjacent to V while W doesn't sit
adjacent to S.

Clearly, T sits opposite U.
Hence the correct answeris T.

Q:10 The correct answer is Option 1i.e. J

1. N sits second to the left of P who sits at the corner.
2. Three people sit between N and J.

3. O sits immediately right of J.

4. L sits second to the right of O.

5. M sits immediately right of Q who faces outside.
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Clearly, J sits between L and O.
Hence the correct answer is J.

GETITON

Google Play

9 Asutosh Mukherjee Road, College Para, Hathi More, Siliguri, West Bengal

QO +91 - 8436586516, +91-8436900456
B thedhronas@gmail.com
@ thedronas.com S




